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QUESTION 1

During eSpace Desktop login, which is used for UC account and password authentication?
A. BMU

B. eServer

C. MAA

D. Unified gateway

Correct Answer: B

QUESTION 2

In a multi-node centralized network, there is a central node with a U1981 deployed, and two branch nodes, one (node 1)
with a U1911 and the other (node 2) with a U1960. User A is a POTS user on branch node 1; users B and D are SIP
users on branch node 2, and user C is an external PSTN user on branch node 2. If call forwarding unconditional to user
B is enabled for user A and if user C calls user D but user D forwards the call to user A, the call will be directly
forwarded to user B and then user C talks to user B. After the call between user B and user C is connected, the path
along which the RTP streams are transmitted is ().

A. BU198K->U1911

B. BU1960U198K->U1911

C. BU1911

D. BU1960

E. BDU1960

Correct Answer: D

QUESTION 3

IP phone user A and IP phone user B register with the same AR router, The AR router does not connect to the PSTN.
After A successfully calls B, A can properly talk with B. The call is an () call.

A. Intra-office
B. Inter-office
C. Intra-domain
D. Inter-domain

Correct Answer: A
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QUESTION 4

About the user configuration in a multi-node centralized network, which of the following statements are CORRECT?
(Multiple Choice)

A. SIP numbers do not need to be configured on the local node.
B. POTS numbers do not need to be configured on the local node.
C. The local regeneration prefix needs to be configured on the local node.

Correct Answer: AC

QUESTION 5

In an external network access scenario, an SBC and an enterprise firewall are deployed in parallel. Which of the
following statements are INCORRECT as regard to the external eSpace Mobile authentication and registration
processes?

A. All SIP messages between the eSpace Mobile and the U1900 must pass through the SBC.

B. The eSpace Mobile initiates an authentication request to the MAA in the DMZ through the SBC.

C. The MAA sends the SBC extranet IP address of the SIP server to the eSpace Mobile through the firewall.

Correct Answer: B

H11-828 VCE Dumps H11-828 Practice Test H11-828 Exam Questions

H11-828 VCE Dumps | H11-828 Practice Test | H11-828 Exam Questions 3/3


https://www.pass4itsure.com/h11-828.html
https://www.pass4itsure.com/h11-828.html
https://www.pass4itsure.com/h11-828.html
http://www.tcpdf.org
https://www.pass4itsure.com/h11-828.html
https://www.pass4itsure.com/h11-828.html
https://www.pass4itsure.com/h11-828.html

